g 3 strokes

RFREE

Romaji: KA
sounds like: Car or CArl

Mnemonic:

* It looks like a “K”—well, sort of.

(

1 2 3
— :3% % 4 strokes

Romaiji: Kl
sounds like: KEY

Mnemonic:

* It looks like an old-fashioned skeleton KEY




1 stroke

Romaji: KU
sounds like: COOI

Mnemonic:

e It looks like a COOI “less than” mark

oy fs
e It looks like a paKU-man e %Q

1 2 13

0 c__‘ ej‘ 3 strokes

Romaiji: KE

sounds like: Keg or CAve
Mnemonic:
e It looks like a broken old KEttle

e It looks like a hairy CAve (“hair” in Japanese is “ke”)

[T

7




I N — 2 strokes

9 Romaji: KO

sounds like: Cold or COla

Mnemonic:

‘ * 1t looks like a COla can rolling

;

;
VOCABULARY < togo syllable.]
¥ face < 9 Z 9 airport [the 5 makes Z ™ love or carp (fish)
Z X (train) station the < and Z alonger sound. You 7»Z  persimmon fruit
Blx big don’t pronounce it as a separate YY) pond

Q&A:
C rOSSWO rd C h a | | e n ge ! 1) How do you write “big (train) station” [big
Practice writing the hiragana (not romaji)! + station]

Across

1 This means “face” (2)

3 This means “persimmon” (2)

4 This means “to go” (2) TRUE OR FALSE: (circle one)

1) < 9 Z 9 means “airport”
T F

Down

2 This means “big” (4)

2) To make some sounds longer add an 9
T F
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